Slavnov-Taylor 0 O [

BRSOOOOOO Slavnov-Taylor 000 0000000000000 (QED)DOO0OO0OO0OOOOOOOOOO
O00Slavnov-Taylor 00000000000 (QCD) 0000000 0O0O0O0UO0UOOOOOOOOOODOOO
gboooboboooboobooooboooooon

gbooobOoobooooobooooooboo

L=Lesy+ ALT™ +hn + 1)

1

a papv 1 a —a a (s
Logs = = Fa P — (04 A)F = 7(0 Dyn)® + 00" Dyy — m)y

= £gauge+£GF+£FP+£matter
a a abe c . aoa
(Dun)* = O + gf " Ain® , Db = (O — ig A5 -
000000000000 Slavnov-Taylor 00 0000000000000 0OOCODOODOOOOOOODOOOO
000000000000 00oO0oOoO0 BRSOOOOODODOOOOOOO BRSOODOODOOOoOoOoooog
ooobooooobobo0obboobooob0o0obboobooUbOoboobDboooDbooobboOoo

00000 Slavnov-Taylor 00000
0000 L, 00000000 BRSOOOOOOOOOBRSOOO

6AZ = AD,n)*

c 1 abc, b, c
on® = §Agf n'nA
—a 1 " oAa

dp = irgn“t P

goooboooobobooboobooon

Z[J, s, u,6,6] = / DADTDDYDY exp [z / d*a(Lesy + ALT™ + 50" + u* + PE + ¥E)

00000000000J%,s,4&000000000000000 (s,«0000000)000000000
00000000000000000000000000000000000000000 (000000000
0000000000000)0

00000000000 BRSOODODOOOOOOOOOOOO

Z'[J,s,u, €, €] = / DADTDNDYDY exp [z / d*a(Lepp + AL T + s0'* +u'n™ + e+ w’é)}

00000000000 (BRSOOUOODDOOOODODOOUD)OOOO



A = Ap 54 =0y, W =000, W =0y, =450

Ubo00bO0b0O00Oexp00oonoonOO

215,68 = [ DADTIDYDGDY
(1+ DAL by + yoiy + 00¢ + E0v) | / d'w(Legs + ALT™ + "0 4 w7 + Y€+ 0E)

000 Zz=Zz'00

0= / DADTDDYDY(6AG T + s*6n® + uon* 4 6¢& + £6¢)
X exp [z / d*a(Lesy + ALT™ + 50" + uN® 4+ PE + ¥E) (1)

00000 BRSOOOOOOOOOOOOOOODOOOOOODOOOOOODODOOOOOODODODOOOO
ooooooo

a a a 1 abc c . aya—, - aga ]
K (Dym)® +v* (=59 " n"°) + ignt°@y + ign"t*gw

00000 K »vww 0000 OD0O0OO000O0o0o0)0ooooooooooooooo Aj,n,¢ 0 BRS
gooooboobooooobobooooboooooboboooooboo

Lepy+ Lew = Lepy + ApJ™ + 50 +u'n" + oy + 1y

a a a 1 abc c . aga—, - aga,j
+ K (Dyun)® + 0 (=59 n"n°) + ign"tw + ign"t*gw (2a)

7= / DADTDNDYDY exp [z / d*x(Leyy +£ez)] (2b)
000000000 BRSOODOODOOO0OO0OO00O0 6Le, O

Loy = SALT 4 560" + u®ST" + 6%E + E6¢

Ly 0BRSOODOOO0O0O0O0O0O0O00O0O0O0O0O0O0O0OO0OO0O0O0O0O0O0OOOO0O0O0O0O0O0 BRSOOOD
0000000000 (00 BRSOOODOOOOODOOOOOO)OOO0O0 DO BRSOOOOOOOOOOO
gbooobOobooooboobooooboobooboobooboooboon



S(frenne) = U0 e+ n’on°)
1 aoc mmn _ m.__n C 1 aoc fecmn m._n
= —59f be fomnpmt An© — —g £ Py A

2
= —%gf“bfbm”nmn”nCA - %gf“bcfcm”nmn"nbA
= —gf* T A
= —égf‘“’CJ“m”n’”“n”n”A - égf‘“’cfc’"”77”77’"77”A - égf‘“’cf‘”"”77”771’77’”A
= —égf‘”":f”"”nmn”n”A - égf‘”’wf”“’77’””77”711’A - égf“”chbmnmn"nbA
g O T e feU gt

gbooobooooon

fabCfcmn — _famecnb _ faancbm

gbooobooobOobOoboOobOoboooobobooboobon

O(n“thp) = oY +n*toy
_ _%gfabcnbncta)\w gt A
= *%9}‘“(’“?71’17%“/\1/) - %gn“nbt“tb/\w - %gn%“t%%ﬁ;
= _lgfabcnbnctaAw _ %’gna’ﬂbtatb)\iﬁ + %gnanbtbta)\d}

2
1 b ib { by, b
= g(—=fabega _ Zgbge 4 ey €A
g( 2f gttt '\
1 aocga /L C C
= g(—s o — [t tDn"n My

2 2
1 >4a 1 ca pa C
= g(—if““t +§fb Y0P n M
— 0

00000000000 ()ooooo

0= /DADﬁDnDEDw(éAZJa“ + 8%0n® + u®on® + SPE + E6v) exp [z / d*z(Lepy + Eeac)i| (3)

oooooooooobooooon 5AZ,577,5E,51¢DD[IDDDDDD 0000000000000 0 Jor
goooboooobobooog

07

A
SK

- / DADTDyDYD) iA(D n)? exp [z / d*z(Less + AL + 50" + " + P& + ¢
1 - A, s aqa]
+K“(Dyn)* + v“(*§gf“bcnbnc) +ign“t @y + ign"t dfw)}
= /DADﬁ’DnD@’D@[J i6 A" exp [i/d"‘x(ﬁeff + Eez):|

3



)\— / DADTDyDYDY (—f/\g fabenbn
= /DADﬁDnDEDqﬁ 10m exp |:i/d4l'(£eff + L’ex)}
0Z = WE (s agay : 4
o= = | DADRDYDEDY i(idgnt ) exp [z d*a(Less + Lm)}

— [ DADTDYDTDY i(~5) exp [ [ dta(less + L)

oz _ / DADTDNDYDY) i51) exp [z / d*z(Lepy + Eex)}

A
“5J“

— / DADYTDyDYDY i(—07) exp [z / d*z(Leysy +£@x)]

0oooooo(3)o

07 0Z 1, 672
= 4 — J e —ut—=
0 )\/d x((SKWJ +s e “5Jﬁ

000 ZzO0OwWOoOOOoo (Z=eY)

oW §W 1 5W
_ d4 apL R Nl
0="2 / ((SK‘W R STy Tl

/ DADTDYDUD) (Aa A exp / d*a(Lesy +£e$)}

) exp {i/d‘lx(ﬁeff + Eez)]

)
We 221

000 BRSOOOOOOODOOOOOO Slavnov-Taylor 00 0000000000000 ODODOOCOOOO

ubooobooogoboon

gboboobooooboobooooobooooboobooooboooboono

F[A7 "7’ ﬁ? 1/)7@; K7 ’U’ w7w] = W[J)S’ u) €’ 57 K7 ’U’ w7w]

- / dhz(ASTH 4 st 4 a4 TE + EY) (4)

ocoooooooowooooo



W e W W W oW
6Jg " fs@ T due S Y
go00o0o0oooooooooooroooo
5T 5T 5T 5T ;T
:_Jlt(l)i:_saaTa:_ua7j:_§a7:§
dAL on® 0T o oY
ST oW 4T oW 4T oW o0 oW
5Kﬂ_5Kf}’(5va—5v“’5w_5w’(5@_5w
000000000
5T 6T 6T 6T 4T 1 ST 6T o7 oT
_ 4 S e Bty Y | L Rt
0 A/M( 5K 5Az  ome ove | o a 5w 55 wm)
5T 6T 6T oT  oT 1 ST 6T 6T 6T
= OO0 0 Ly gpa O 000
/ “’(5Kau5Ag+5na5va 57" ot +5w5¢+5¢5w)

0000000000000 0O0000U0oo0o0oO (2bhy0mp00000O0OOO

A _
‘;—ﬁ - / DADTDYDYDY i(u® — (9“Dyn)”)
x exp i / da(- - =0 Dym)" + AR + 8"+t 4+ ¢+ §E

a a a 1 abc c - aja—, - aga
+ K (D) + 0" (=59 n"n%) + ign"t @y + ignt ww}

= /DADﬁ’DnD@’DdJ (fu® — " 5lga#)exp {i/d4x(£eff + L)

0z
N, Y]
=z -0 Sk

ooowooooo

0Z 0Z
2t on

oo Y R

6eiW - a _1W o 6eiW

57 = e -0 SKan
ow oW
_— = a _ HH

o7 w0 S e

SW/énD (40000000000 000w*0 —=6T/ép*06W/6K =46T/6K OO0

or or

—_ _ oK

ot SKar




00000 (500000

0 = [ st R a A S t )
= [t (s * s Y s 5 )
/14x<5£5u§i; §§;;i‘+ V(aiiué " “”“aiiui”auA““*‘izgi gg%%)
/ Qiumfﬂwmw)§;$+gi+gg)

000000000
f:F+£i/#ﬂyA%2
200 v

Do0000000000000000

T or 1
6A%  SAL «

t/}fma“a”Aﬁ

0000000 TDO0000000O0DOOO

./ 00 6T 6L 6T 4T 6r 6T 6T
(kersaz " sy 5o swse T 50 55) =
. n% dv w&p Y 0w
0000 Slavnov-Taylor 0000 0000000000000 0O0O0ODO0OOCOOODO0O0OOOOODOOO0OO
000000000000000000000



